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By arrow way:

By number bond:

33

a)  ____ + 33 ¢ = 100 ¢.67 ¢

+ 7 + 60
40 100

By arrow way:

By number bond:

100

100

b)  100 ¢ - 55 ¢ = ____.

- 50

- 30

- 5

- 3

By arrow way:

By number bond:

100

c)  100 ¢ - 28 ¢ = ____.

- 20 - 10 + 2

By arrow way:

By number bond:

100

d)  100 ¢ - 43 ¢ = ____.

- 40 - 3

By arrow way:

By number bond:

100

e)  100 ¢ - 19 ¢ = ____.

- 20 + 1

Use different strategies to make $1 or make change from $1. 

1)  Solve using the arrow way and number bond.

COUNTING AND TALLY WITH COINS

$1

67 ¢33 ¢

$1

55 ¢

$1

28 ¢

$1

43 ¢

$1

19 ¢

(OR)
70 67


